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2 H A R

FRE) - B SRATE S

REME15 K

A ENSEHAH H27.5.11 8.3 11.9 | H28.2.1 [[M¥% s A S 1)
7K iR (‘C) 10.1 23.6 17.6 78] 4 23.6 7.8 14.8
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | Q00mLH) [ HEF e REEd BT 4 BT e BHEs
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 = <0.0003 | <0.0003 | 4  <0.0003 | <0.0003 <0.0003
IKER I FDLE W (mg/L) [<0.00005 <0.00005 <0.00005 <0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OTEDILED (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
vE K NFDLE W) (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
VA= (2-Y7) (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
YT ALY e O YTy (mg/L)|  <0.001  <0.001  <0.001  <0.001| 4  <0.001  <0.001  <0.001
fHBERE K VIR RE &5 5 (mg/L) 0.67 0.55 0.65 0.71| 4 0.71 0.55 0.65
7 9FE R OZFDILEY (mg/L) 0.06 0.07 0.08 0.08| 4 0.08 0.06 0.07
KU FE K OZEDILEY (mg/L) 0.01 0.01 0.02 0.02| 4 0.02 0.01 0.02
RS (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
1,4- A %Y (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001  <0.001 | <0.001
VAR NN A-1,2-y aaxFly (mg/L)| <0.0001  <0.0001 | <0.0001 @ <0.0001 | 4 <0.0001 <0.0001 | <0.0001
PruouaRAK (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
K ZmonxFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
~N B (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
e (mg/L) 0.05 0.07 0.06 0.03| 4 0.07 0.03 0.05
7 aa e (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.006 0.014 0.011 0.008| 4 0.014 0.006 0.010
A=i=tia (mg/L) 0.004 0.009 0.006 0.004| 4 0.009 0.004 0.006
DA A== b Y (mg/L) 0.001 0.001 0.002 0.001| 4 0.002 0.001 0.001
el (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001  <0.001 | <0.001
KahU mAH (mg/L) 0.010 0.020 0.019 0.013| 4 0.020 0.010 0.016
IPA=t=113. (mg/L) 0.005 0.009 0.009 0.006 | 4 0.009 0.005 0.007
AR ==Y 2 (mg/L) 0.003 0.005 0.006 0.004| 4 0.006 0.003 0.005
THRER/L L (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
FRILLTIVFER (mg/L) 0.002 | <0.002 0.003 0.005| 4 0.005 | <0.002 0.003
W R O DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
TNAI=U LK OFONAEY  (ng/L) 0.01 0.03 0.03 0.02| 4 0.03 0.01 0.02
B OF Db (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
FRT LK OFEDILEY (mg/L) 8.2 6.6 9.9 7.7 4 9.9 6.6 8.1
<~ H R OZFDILEY (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Bk WA A v (mg/L) 11 9.2 13 13 4 13 9.2 11
ANYIA T RV LNE@E ) (mg/L) 45 37 47 0| 4 47 37 492
K KR E W (mg/L) 88 88 99 10| 4 110 88 96
A A T s A (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
A AI (mg/L) <0.000001 | 0.000001 <0.000001 [<0.000001 4 1 0.000001 [<0.000001 |<0.000001
H%zwynﬁ“wz\ﬁ—w (mg/L) <0.000001 |<0.000001 <0.000001 [<0.000001 4 1<0.000001 [<0.000001 |<0.000001
FEA A S g A (mg/L)| <0.005 <0.005  <0.005 | <0.005| 4 <0.005| <0.005 <0.005
7 /) — LA (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4  <0.0005 | <0.0005 <0.0005
Y (TOCHE) (mg/L) 0.7 0.8 0.9 08| 4 0.9 0.7 0.8
pH fiE 7.3 7.2 7.4 7.4 4 7.4 7.2 7.3

S Bl | Bl BERL BEARL| 4 BEL ) Bl Bl
5 = il | Bl Bl BEeU| 4 BEL | BEaL BEsL
) B () <0.5 <0.5 <0.5 05| 4 <0.5 <0.5 <0.5
b & (J£) <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
W B i Y R R (mg/L) 0.8 0.7 0.8 0.8] 4 0.8 0.7 0.8
w7 oL B (mg/L) 39.5 35.0 49.0 475 4 49.0 35.0 42.8
A Iz R (1S/cm) 129 113 151 153 4 153 113 137
TR T HEE S (mg/L) — - — - — — — —
% 1% W) & (SS) (mg/L) — — — - — — — —
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o 5 ) 1R

REME 25 K

A EEHNEHH H27.4.13 7.6 10.5 | H28.1.5 |[[nI¥  && AKX S
7K 15 (©) 13.3 20.5 21.1 12.9] 4 21.1 12.9 17.0
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | 100mLH) [ HE e MmHEd BT 4 BT e T e
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 <0.0003 | <0.0003| 4  <0.0003 | <0.0003 | <0.0003
IKER I FDLE W (mg/L) |<0.00005 <0.00005 <0.00005 |<0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OEDILED (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
vE K NFOLE W) (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VA= (=Y (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
ST ALY e O YTy (mg/L) | <0.001  <0.001 = <0.001 = <0.001| 4| <0.001  <0.001  <0.001
EERRE K O\ ERRE 22 35 (mg/L) 0.41 0.31 0.30 0.35] 4 0.41 0.30 0.34
7o OZFDLEY (mg/L) 0.05 0.05 0.05 0.05| 4 0.05 0.05 0.05
KU FE K OZEDLEY (mg/L) 0.01 0.01 0.01 0.01] 4 0.01 0.01 0.01
RS (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
1,4- A %Y (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR N A-1,2-y anxFly (mg/L) | <0.0001 | <0.0001 | <0.0001 <0.0001 | 4 | <0.0001 <0.0001 | <0.0001
PrsuonuaRAK (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
K ZmnxFL (mg/L)| <0.0001 <0.0001 <0.0001 | <0.0001 | 4 | <0.0001 <0.0001 <0.0001
~N o (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
e (mg/L) 0.03 0.05 0.05 0.03] 4 0.05 0.03 0.04
7 aa R (mg/L)| <0.001  <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.004 0.011 0.009 0.006 | 4 0.011 0.004 0.008
CrunlElE (mg/L) 0.003 0.006 0.004 0.004| 4 0.006 0.003 0.004
DA A== b Y (mg/L) 0.001 0.001 0.002 0.001| 4 0.002 0.001 0.001
el (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
KahU mAH (mg/L) 0.008 0.016 0.015 0.010| 4 0.016 0.008 0.012
IDP2=t=113. (mg/L) 0.003 0.004 0.004 0.004| 4 0.004 0.003 0.004
AR A== Y 2 (mg/L) 0.003 0.004 0.004 0.003| 4 0.004 0.003 0.004
THRER/L L (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
FILLTIVFER (mg/L)| <0.002  <0.002  <0.002 | <0.002| 4 <0.002 | <0.002 <0.002
W R O DAY (mg/L) <0.01 <0.01 <0.01 0.01] 4 <0.01 <0.01 <0.01
TNAI=D LK NFONAEY  (ng/L) 0.01 0.03 0.11 0.02] 4 0.11 0.01 0.04
B OF Db (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 .01 4 <0.01 <0.01 <0.01
FRT LR OFEDIEY (mg/L) 6.3 6.2 6.1 69| 4 6.9 6.1 6.4
<~ H R OZFDILEY (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4| <0.001 <0.001  <0.001
w1+ (mg/L) 7.5 6.5 6.3 69| 4 7.5 6.3 6.8
ANYIA T RV NE@E ) (meg/L) 36 37 37 471 4 47 36 39
K KR E W (mg/L) 70 77 67 72| 4 77 67 72
A A FmE s A (mg/L) <0.01 <0.01 <0.01 0.01] 4 <0.01 <0.01 <0.01
A AI (mg/L) <0.000001 | 0.000001 | 0.000002 [<0.000001 4 | 0.000002 |<0.000001 |<0.000001
Z*X%JD/(V?JL\VW\ﬁﬁD (mg/L) 0.000002 | 0.000001 |[<0.000001 | 0.000002 4 | 0.000002 |<0.000001 | 0.000001
FEA A S g A (mg/L)| <0.005 <0.005 <0.005 | <0.005| 4 <0.005| <0.005 <0.005
7 /) — )L (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4  <0.0005 | <0.0005 <0.0005
Y (TOCHE) (mg/L) 0.3 0.4 0.3 04| 4 0.4 0.3 0.4
pH fi 7.7 7.7 7.7 76| 4 7.7 7.6 7.7

IS HuiaU | Bl BERL BEARL| 4 BEL ) BEnL Bl
5 = el | Bl Bwel BEeU| 4 BEL | BEaL BEsL
) E (F5) <0.5 <0.5 <0.5 0.5] 4 <0.5 <0.5 <0.5
b E () <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
WE Bt 7k 8 R % (mg/L) 0.7 0.7 0.8 08| 4 0.8 0.7 0.7
w7 oL B (mg/L) 32.0 34.5 35.5 395 4 39.5 32.0 35.4
A xR (1 S/cm) 108 105 102 14| 4 114 102 107
TR T HERE S (mg/L) - — — - — — — —
% 3 W) & (SS) (mg/L) — — — - — — — —
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FRE) - B R IR S
AETHEE 152 Kk

A H N HH H27.4.13 7.6 10.5  H28.1.5 |m¥  f&xm I F¥)
7K iR (‘C) 10.9 20.8 21.7 16| 4 21.7 10.9 16.3
— & (CFU/mL) 0 0 0 o 4 0 0 0
N | A00mLAH) [ B9 HEd e 4 mibdd s sibed
HRIT LR RFDOLEW (mg/L) | <0.0003 | <0.0003 <0.0003 <0.0003 | 4  <0.0003 <0.0003 | <0.0003
KERJ OFDILE (mg/L) [<0.00005 ' <0.00005 <0.00005 <0.00005| 4 <0.00005 <0.00005 |<0.00005
LU R OFOIEY (mg/L)| <0.001 | <0.001  <0.001 <0.001| 4 <0.001 <0.001 <0.001
N DAY (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
LE K RFOLEY) (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
VN A=ON(2-Y) (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
TR IEZE R (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
YT ALY R O YTy (mg/L)|  <0.001 | <0.001 | <0.001 = <0.001| 4 <0.001  <0.001  <0.001
THEARE K OV Y BARE 22 35 (mg/L) 0.59 0.48 0.59 041 4 0.59 0.41 0.52
7 9#E M OFDILEW (mg/L) 0.06 0.07 0.06 0.05| 4 0.07 0.05 0.06
KU FE K ONZFDILEY (mg/L) 0.01 0.01 0.02 0.01] 4 0.02 0.01 0.01
RS (mg/L) | <0.0001 | <0.0001 @ <0.0001 <0.0001| 4 <0.0001 <0.0001 <0.0001
1,4- A %W (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
VAR N7 A-1,2- aaxFly (mg/L) | <0.0001 | <0.0001 | <0.0001 = <0.0001 | 4 <0.0001 <0.0001 <0.0001
rnn AL (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
FhSronTFL L (mg/L) | <0.0001 | <0.0001 @ <0.0001 <0.0001| 4 <0.0001 <0.0001 <0.0001
N A= S (mg/L) | €0.0001 | <0.0001 @ <0.0001 <0.0001| 4 <0.0001 <0.0001 <0.0001
~N v (mg/L)| <0.001 | <0.001 <0.001  <0.001| 4 <0.001 <0.001 <0.001
YRR (mg/L) 0.03 0.05 0.07 0.03| 4 0.07 0.03 0.05
I aa e (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
VAR WA (mg/L) 0.006 0.014 0.013 0.005| 4 0.014 0.005 0.010
Cruulilg (mg/L) 0.004 0.009 0.008 0.004| 4 0.009 0.004 0.006
DA=s A== P % (mg/L)| <0.001  <0.001 0.001 0.001 | 4 0.001  <0.001  <0.001
e (mg/L)| <0.001  <0.001  <0.001 | <0.001| 4| <0.001 <0.001  <0.001
NN =P (mg/L) 0.009 0.017 0.019 0.009 | 4 0.019 0.009 0.014
A==t 5 (mg/L) 0.005 0.009 0.010 0.004| 4 0.010 0.004 0.007
PAEE I A=1=0 Y (mg/L) 0.003 0.003 0.005 0.003| 4 0.005 0.003 0.004
T EER/L L (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
AL LT ILVTFER (mg/L)| <0.002 1 <0.002  <0.002 <0.002| 4 <0.002  <0.002 | <0.002
Weh Kk O DbEW (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
TN LK OEDOEY (mg/L) 0.02 0.03 0.03 0.02| 4 0.03 0.02 0.03
B} NF DAY (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
i Je OF DL A (mg/L) <0.01 <0.01 <0.01 .01 4 <0.01 <0.01 <0.01
F R LR OZFDLEY (mg/L) 7.6 5.3 7.6 7.0 4 7.6 5.3 6.9
<~ H R OZFDIEY (mg/L)| <0.001 | <0.001  <0.001  <0.001| 4 <0.001 <0.001 <0.001
Wik WA 4+ v (mg/L) 9.9 8.3 9.9 8.1 4 9.9 8.1 9.1
IVYTA T RO NEGE ) (mg/L) 45 32 42 45| 4 45 32 41
AKEKXRHEWD (mg/L) 85 77 84 74| 4 85 74 80
A A o A (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
A (mg/L) <0.000001 | 0.000001 | 0.000001 |[<0.000001 4 1 0.000001 [<0.000001 |<0.000001
2= AFWAVE VA=V (mg/L) <0.000001 |<0.000001 1<0.000001 | 0.000001 4 1 0.000001 [<0.000001 |<0.000001
FEA A T s A (mg/L)| <0.005  <0.005 <0.005 <0.005| 4  <0.005 <0.005 | <0.005
7 /) — LI (mg/L) | <0.0005  <0.0005 <0.0005 <0.0005| 4 <0.0005 <0.0005  <0.0005
HHEM (TOCHE) (mg/L) 0.6 0.8 0.7 06| 4 0.8 0.6 0.7
pH il 7.4 7.4 7.3 75| 4 7.5 7.3 7.4
BaiaL | Bl BEARL BEARL| 4 BElel | BEALL ) AEESL
= = BaiaL | Byl BEARL BERL| 4 Bl BEAL O AEARL
1, E () <0.5 <0.5 <0.5 05| 4 <0.5 <0.5 <0.5
& E () <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
r B 7% B8 M % (mg/L) 0.7 0.7 0.7 0.8 4 0.8 0.7 0.7
W (mg/L) 37.0 30.0 38.0 39.0| 4 39.0 30.0 36.0
A I (uS/cm) 125 101 121 120 4 125 101 117

TUE=T e S (mg/L) — — - - — — — —

% % ) B (SS) (mg/L) — — — - — — — —
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FEe) R
FRET A K H

A ENEHAH H27.5.11 8.3 11.9 | H28.2.1 [[M¥% s A S 1)
7K iR (‘C) 13.5 23.0 18.5 87| 4 23.0 8.7 15.9
— & M E (CFU/mL) 0 0 0 o 4 0 0 0
N | Q00mLH) [ HEF e REEd BT 4 BT e BHEs
HRIT DK RZFDILEY (mg/L)| <0.0003 <0.0003 = <0.0003 | <0.0003 | 4  <0.0003 | <0.0003 <0.0003
IKER I FDLE W (mg/L) [<0.00005 <0.00005 <0.00005 <0.00005 | 4 <0.00005 |<0.00005 <0.00005
LU R OTEDILED (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
SR OZEDILEY (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
vE K NFDLE W) (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
VA= (2-Y7) (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
TR IEZE R (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
YT ALY e O YTy (mg/L)|  <0.001  <0.001  <0.001  <0.001| 4  <0.001  <0.001  <0.001
fHBERE K VIR RE &5 5 (mg/L) 0.72 0.57 0.68 0.75| 4 0.75 0.57 0.68
7 9FE R OZFDILEY (mg/L) 0.06 0.08 0.08 0.08| 4 0.08 0.06 0.08
KU FE K OZEDILEY (mg/L) 0.01 0.01 0.02 0.02| 4 0.02 0.01 0.02
RS (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
1,4- A %Y (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001  <0.001 | <0.001
VAR NN A-1,2-y aaxFly (mg/L)| <0.0001  <0.0001 | <0.0001 @ <0.0001 | 4 <0.0001 <0.0001 | <0.0001
PruouaRAK (mg/L)| <0.001  <0.001 | <0.001 <0.001| 4 <0.001 <0.001 | <0.001
Th7/unzFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
K ZmonxFL (mg/L)| <0.0001 <0.0001 | <0.0001 @ <0.0001| 4 <0.0001 <0.0001 | <0.0001
~N B (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
e (mg/L) 0.04 0.06 0.06 0.03| 4 0.06 0.03 0.05
7 aa e (mg/L)| <0.001 <0.001 = <0.001 | <0.001| 4| <0.001 <0.001  <0.001
VAR =R N (mg/L) 0.007 0.017 0.015 0.008| 4 0.017 0.007 0.012
A=i=tia (mg/L) 0.005 0.010 0.007 0.005| 4 0.010 0.005 0.007
DA A== b Y (mg/L) 0.001 0.001 0.002 0.001| 4 0.002 0.001 0.001
el (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001  <0.001 | <0.001
KahU mAH (mg/L) 0.011 0.022 0.024 0.013| 4 0.024 0.011 0.018
IPA=t=113. (mg/L) 0.007 0.011 0.011 0.007 | 4 0.011 0.007 0.009
AR ==Y 2 (mg/L) 0.003 0.004 0.007 0.004| 4 0.007 0.003 0.005
THRER/L L (mg/L)| <0.001  <0.001 | <0.001  <0.001| 4 <0.001 <0.001 | <0.001
FRILLTIVFER (mg/L) 0.002 0.002 0.003 0.006 | 4 0.006 0.002 0.003
W R O DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
TNAI=U LK OFONAEY  (ng/L) 0.01 0.02 0.03 0.02| 4 0.03 0.01 0.02
B OF Db (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
ARk NF DAY (mg/L) <0.01 <0.01 <0.01 <0.01| 4 <0.01 <0.01 <0.01
FRT LK OFEDILEY (mg/L) 8.3 6.1 9.9 7.7 4 9.9 6.1 8.0
<~ H R OZFDILEY (mg/L)| <0.001 <0.001 | <0.001 | <0.001| 4| <0.001 <0.001  <0.001
Bk WA A v (mg/L) 11 9.2 13 13 4 13 9.2 12
ANYIA T RV LNE@E ) (mg/L) 47 36 47 0| 4 47 36 43
K KR E W (mg/L) 91 88 100 10| 4 110 88 97
A A T s A (mg/L) <0.01 <0.01 <0.01 0.01| 4 <0.01 <0.01 <0.01
A AI (mg/L) <0.000001 |<0.000001 <0.000001 [<0.000001 4 1<0.000001 [<0.000001 |<0.000001
Z*X%IL/(V?JL\VW\ﬁﬂD (mg/L) <0.000001 |<0.000001 <0.000001 [<0.000001 4 1<0.000001 [<0.000001 |<0.000001
FEA A S g A (mg/L)| <0.005 <0.005  <0.005 | <0.005| 4 <0.005| <0.005 <0.005
7 /) — LA (mg/L)| <0.0005 <0.0005 <0.0005 | <0.0005| 4  <0.0005 | <0.0005 <0.0005
Y (TOCHE) (mg/L) 0.8 0.9 0.9 09| 4 0.9 0.8 0.9
pH fiE 7.3 7.2 7.5 75| 4 7.5 7.2 7.3

S Bl | Bl BERL BEARL| 4 BEL ) Bl Bl
5 = il | Bl Bl BEeU| 4 BEL | BEaL BEsL
) B () <0.5 <0.5 <0.5 05| 4 <0.5 <0.5 <0.5
b & (J£) <0.05 <0.05 <0.05 <0.05| 4 <0.05 <0.05 <0.05
W B i Y R R (mg/L) 0.8 0.7 0.7 0.7] 4 0.8 0.7 0.7
w7 oL B (mg/L) 41.0 36.0 50.0 485 4 50.0 36.0 43.9
A Iz R (1S/cm) 135 116 154 156 | 4 156 116 140
TR T HEE S (mg/L) — - — - — — — —
% 1% W) & (SS) (mg/L) — — — - — — — —
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12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 3 0.02
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | sk A Y T uFAT 2 (IPT) 3000 0.02] 12 1] 0.07 86 | B NV TxFuS 40 0.01] 12 1 0.01
15 @ A7~k (1BP) 90/ 0.02] 12 2 4.2 87 | B Ry xY 2000 0.01] 12 5/ 0.84
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0
EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 1 0.02
22 | TURALT Y (RUVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100/ 0.02| 12 20 0.07 97 | W | AFHF AL (DMTP) 40 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 2 1.6 99 | M A RI /A bBEY 400 0.01 12| 12 3.7
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 1] 0.02 101 8 A7)ty b 20/ 0.01 12 2| 0.91
29 | X IR T T 5/ 0.01] 12 1] 0.01 102 | i A7 m=)v 100, 0.05/ 12 0
30 | ¥/ 27T (ACN) 5/ 0.01] 12 1] 0.19 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10 B |7 FA L ALEXTR — 0.05/ 12 1 4.3
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 1 0.21
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 5 0.25 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 1 0.05
49 | B (VAU 30, 0.03 12 0 15| WE | 7XIRAFFY - 0.02| 12 0
50 | B PAENL—| 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 1] 0.01 17 B |~I74F — 0.02] 12 0
52 | MK KA b 800/ 0.01| 12 30 0.15
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 INEY ST A= 2000 0.01] 12 1 0.29
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBmEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 1 1.1
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HME|7IAMEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 3 0.07 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 |HmE TYXRRAREY 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 7 3.0 13 # | RerrTRYAFL 500 0.01 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 3 0.07
71 | HE = T HLT (BPMC) 30, 0.01 12 1 3.2 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 1 4.4 SRR P AR 1 0.01 1.1
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FPReJ IR

FFEF)IF H 2
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | M | 7= hx— b (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 1 012
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 1] 0,12 BN 1A=L 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 1 0.40
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | W T hIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 4 1.7
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 4] 0.04
12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 1 0.02
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 1] 0,12 87 | B Ry xY 2000 0.01] 12 2| 0.92
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | B | Aza7w v (MCPP) 50/ 0.01 12 0
22 | TURALT Y (RUVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 1 0.04
24 | AVY R brEY 100/ 0.02| 12 1/ 0.06 97 | W | AFHF AL (DMTP) 40 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 2 1.7 99 | M A RI /A bBEY 40/ 0.01 12| 11 3.1
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 B [ A7=FEv bk 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30 | ¥/ 27T (ACN) 5/ 0.01] 12 1] 0.02 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | Bt | Tx=tuFtrAFs — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10 B |7 FA L ALEXTR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 3 0.18 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| WE | 7XIRAFFY - 0.02| 12 0
50 | B PAENL—| 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 1] 0.02 17 B |~I74F — 0.02] 12 0
52 | MK KA b 800/ 0.01| 12 20 0.17
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 INEY ST A= 2000 0.01] 12 2 0.13
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBmEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 1| 0.80
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HME|7IAMEL 20/ 0.01 12 1 0.01
60 |HER U T —L 80/ 0.01 12 2/ 0.06 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 |HmE TYXRRAREY 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 B o7 sAFL 300 0.01] 12 2 7.0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 9 1.9 13 # | RerrTRYAFL 500 0.01 12 1 0.02
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 2/ 0.05
71 | HE = T HLT (BPMC) 30, 0.01 12 1] 0.04 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0.33
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F eI IR

(ESIREVISZ )TV
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 34 0 73 | M | 7= hx— b (PAP) 7| 0.03] 34 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 34 0 T4 | HE T IAR 100, 0.02| 34 0
3 | B |2,4-D (2,4-PA) 30/ 0.02) 34 0 75| B | THsu—L 30/ 0.02) 34 0
4 | i EPN 40 0.02) 34 0 76 | KO THIKR 20/ 0.02 34 0
5 | L |MCPA 5/ 0.02] 34 0 BN 1A=L Pl 20/ 0.05 34 0
6 | B TvaTAh 2000 0.01| 34 0 8| B | TSLFIFru— 50/ 0.02 34 3 0.13
7 WM | TET=— b 6/ 0.8 34 0 9| B |TevI Ry 90| 0.04 34 0
8 | W T hIVU 10/ 0.05| 34 0 80 Juraty—iu 50/ 0.01 34 0
9 | B 7T=upkR 3 0.03 34 0 8l | B |FmbEHIR 50/ 0.02 34 15/ 0.18
10, B | 797ua—n 30 0.02 34 3/ 0.04 82 | Ml FmNFV— 50/ 0.1 34 0
11| 8 Y FA4r 8/ 0.08 34 0 83 | ML | T mETF R 1000 0.02| 34| 14| 0.67
12 B fYT7xrERR 1| 0.01 34 0 84 ~NJ I 20/ 0.01, 34 11| 0.06
13| W A4V 7aknrr (MIPC) 10/ 0.02] 34 0 85 | i | ~Nrvrmy 100/ 0.03| 34 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 34 0 86 | B NV TxFuS 40 0.01] 34 0
15 @ A7~k (1BP) 90| 0.02| 34 5 0.07 87 | B Ry xY 2000 0.01| 34 4/ 0.19
16 mE A/ 0800 6/ 0.06] 34 0 88 | Bk N TF 4 ALY v 300/ 0.02] 34 0
17| ® S8 )77 9/ 0.05 34 0 89 | W (N T T INT 40/ 0.05 34 0
18 ¥ =2xSuhrT 30 0.02 34 0 90 | B RUTATYL (RREVY) 10/ 0.02| 34 0
19 TF 4T 2 RA (VT xR A, 6 005 34 0 91 | &V7V?—b 70/ 0.01 34 0

EDDP) 92 | # |HRAFTE— b 30 0,020 34 0
20 | M@ = h7zrFays R 80| 0.05 34 0 93 | W (~wTFAL (wT V) 50/ 0.03 34 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 34 0 94 | B | Aza7w v (MCPP) 50/ 0.01 34 0
22 | TURALT Y (RUVIEY) 10 0.03] 34 0 95 | W[ AV I 30/ 0.01 34 0
23 | M | AF U8R (HFEER) 30/ 0.05 34 0 96 | R | A X TFXF L 60| 0.04 34 0
24 | AVY R brEY 100/ 0.02| 34 1/ 0.05 97 | W | AFHF AL (DMTP) 40 0.02] 34 0
25 | o XHARA 0.6/ 0.01 34 0 98 | B AFNAKA L 30/ 0.03 34 0
26 | B BTz A ho— 8 0.01] 34 4| 0.03 99 | M A RI /A bBEY 40/ 0.01 34| 34 1.4
27 | H AU L (NAC) 50 0.01 34 0 100 ® [ ARY TV 30/ 0.01 34 0
28 | M AT TR R 40/ 0.01| 34 0 101 B [ A7=FEv bk 20/ 0.01 34 4] 0.19
29 | X IR T T 5/ 0.01] 34 0 102 | i A7 m=)v 100, 0.05| 34 0
30 | ¥/ 27T (ACN) 5/ 0.01] 34 1/ 0.05 103 B €Y x—h 5 0.02) 34 0
31 Xy L 3000 0.1 34 0
32| B sIjnmy 30, 0.05 34 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 34 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 34 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 3 0.02] 34 0 1| B EPNAFY - 0.1 34 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 34 0 2 | B AYX T AR — 0.1 34 0
37 | BTV 40 0.01 34 0 3| B AV TR AFRY - 0.02| 34 0
38 | | vT7 /A (CYAP) 3 0.0l 34 0 4 X = RALT=— ] — 0.03] 34 0
39 | B Yumy (DOMU) 20/ 0.01| 34 1 0.01 5 | & |72 AFLY U (AMPA) — 0.5 34 0
40 | YZu~=/L (DBN) 100 0.01| 34 0 6 | 7 |ONP-T 2 /{K — 0.05/ 34 0
41 H [z mEARA (DDVP) 8/ 0.08 34 0 T B | saAEYRALF Y — 0.03| 34 0
42| ¥ (Y7 Iv b 5 0.05 34 0 8 | M HATV I UAXY — 0.01| 34 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 34 0 9 | Bt | Tx=tuFtrAFs — 0.01| 34 0
44 | B OFFEN 9/ 0.01] 34 0 10 B |7 FA L ALEXTR — 0.05/ 34 0
45 | B |vmky FTFL 6/ 0.02] 34 0 11 B |7z FF ANk — 0.02| 34 0
46 | BT~ (CAT) 3 0,02 34 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 34 0
47 | B UAK ALY 200 0.01| 34 16 0.10 13 B |72 FAoAxY AR - 0.05/ 34 0
48 | VA bxZ—}h 50/ 0.02 34 0 4| W |ZxrFA oA — 0.02| 34 0
49 | B (VAU 30, 0.03 34 0 15| WE | 7XIRAFFY - 0.02| 34 0
50 | B PAENL—| 3 0.02] 34 0 16 | W |7oETFRFToE — 0.02| 34 0
51 | hih XA 7Y/ v 5/ 0.01] 34 1] 0.02 17 B |~I74F — 0.02) 34 0
52 | MK KA b 800/ 0.01| 34 8 0.19
53 | M | F T A 20/ 0.03 34 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 34 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01 34 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 34 0 INEY ST A= 2000 0.01| 34 3 0.02
57 | ® T LT AT (MBPMC) 20/ 0.01| 34 0 2 [ hE vV ALTEY 2000 0.03] 34 2| 0.09
58 | B hUZBmEL 6/ 0.01] 34 0 3 HmE Y/ TTTY 600/ 0.1 34 1 0.30
59 | i MYz madk (DEP) 5/ 0.05 34 0 4 | HME|7IAMEL 20/ 0.01 34 0
60 |HER U T —L 80/ 0.01| 34 4| 0.01 5 | M | AXIFKR 2/ 0.8 34 0
61 | ®W  RUTALTYL 60/ 0.02] 34 0 6 |HmE TYXRRAREY 500/ 0.01| 34 0
62 | B 7RI R 30, 0.03 34 0 T W A Tavty 300/ 0.05 34 0
63 | B EXmRRA 0.9/ 0.02] 34 0 8 | B vFamyr 300/ 0.01| 34 0
64 | B EIFTT 4/ 0.02| 34 0 9 | B F=Arnu—i 200/ 0.01| 34 0
65 | ® BTV UR—k (T L—}) 20/ 0.01| 34 0 10 B o7 sAFL 300/ 0.01] 34 6 3.5
66 | EUXFT=UTFAFU 2/ 0.01] 34 0 11| R |7V b T =1 200/ 0.02] 34 0
67 | B BUTFHLT 20/ 0.01| 34 0 12 | B[R XY K (SAP) 100, 0.03| 34 0
68 | M Eo¥or 40/ 0.02) 34 18 1.3 13 # | RerrTRYAFL 500/ 0.01| 34 4/ 0.10
69 | hif 74 = 0.5 0.005 34 0
70 |®ER 7 == haFA (MEP) 3 0.02] 34 8 0.13
71 | HE = T HLT (BPMC) 30 0.01 34 4/ 0.03 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 34 0 SRR P AR 1 0.01 0.08

e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

R N I

R FIRIEA ) &35

1-12




F eI IR
B R GEE R ALK

ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc
1| # |,3-Yraaray (D-D) 50 0.1/ 16 0 73 | | 7= hm— 1k (PAP) 71 0.03] 16 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 16 0 T4 | HE T IAR 100 0.02| 16 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 16 0 75| B | THsu—L 30/ 0.02) 16 0
4 | i EPN 40 0.02] 16 0 76 | KO THIKR 20/ 0.02 16 0
5 | L |MCPA 5/ 0.02] 16 0 BN 1A=L Pl 20/ 0.05 16 0
6 | B TvaTAh 200/ 0.01| 16 0 8| B | TSLFIFru— 50/ 0.02 16 2| 0.06
7 WM | TET=— b 6 0.8 16 0 9| B |TevI Ry 90| 0.04 16 0
8 | W T hIVU 10/ 0.05] 16 0 80 Juraty—iu 50/ 0.01 16 0
9 | B 7T=upkR 3 0.03 16 0 8l | B |FmbEHIR 50/ 0.02 16 0
10, B | 797ua—n 30, 0.02 16 0 82 | Ml | Fm SV — 50 0.1 16 0
11| 8 Y FA4r 8/ 0.08 16 0 83 | ML | T mETF R 100, 0.02| 16 9| 0.38
12 B fYT7xrERR 1l o001 16 0 84 ~NJ I 20/ 0.01 16 1 0.01
13| W A4V 7aknrr (MIPC) 10/ 0.02] 16 0 85 | i | ~Nrvrmy 100/ 0.03| 16 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 16 0 86 | B NV TxFuS 40 0.01] 16 0
15 @ A7~k (1BP) 90/ 0.02| 16 0 87 | B Ry xYL 2000 0.01| 16 1 0.15
16 mE A/ 0800 6/ 0.06] 16 0 88 | Bk N TF 4 ALY v 300/ 0.02] 16 0
17| ® S8 )77 9 0.05 16 0 89 | W (N T T INT 40/ 0.05 16 0
18 ¥ =2xSuhrT 30, 0.02 16 0 90 | B RUTATYL (RREVY) 10 0.02] 16 0
19 TF 4T 2 RA (VT xR A, 6 005 16 0 91 | &V7V?—b 70/ 0.01 16 0
EDDP) 92 | # |HRAFTE— b 30 0.020 16 0
20 | M@ = h7zrFays R 80/ 0.05 16 0 93 | W (~wTFAL (wT V) 50/ 0.03 16 0
21 TRYTDTY = (Zr AV =)L) 4 0.02] 16 0 94 | T | A= 7wy (MCPP) 50/ 0.01 16 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 16 0 95 | W[ AV I 30/ 0.01 16 0
23 | M | AF U8R (HFEER) 30/ 0.05 16 0 96 | R | A X TFXF L 60/ 0.04 16 0
24 | AVY R brEY 100, 0.02| 16 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 16 0
25 | o XHARA 0.6/ 0.01] 16 0 98 | B AFNAKA L 30/ 0.03 16 0
26 | B BTz A ho— 8 0.01] 16 0 99 | M A RI /A bBEY 40/ 0.01, 16/ 16/ 0.29
27 | H AU L (NAC) 50, 0.01 16 0 100 ® [ ARY TV 30/ 0.01 16 0
28 | M AT TR R 40/ 0.01| 16 0 101 # A7=Fk&v b 20/ 0.01 16 0
29 | X IR T T 5/ 0.01] 16 0 102 | i A7 m=)v 100, 0.05| 16 0
30| B X273 (ACN) 5/ 0.01] 16 0 103 B €Y x—h 5 0.02] 16 0
31 Xy L 3000 0.1/ 16 0
32| B sIjnmy 30, 0.05 16 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 16 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 16 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3 0.02) 16 0 1| B EPNAFY - 0.1 16 0
36 | @ ZmuXa=, (TPN) 50 0.02 16 0 2 | B AYX T AR — 0.1 16 0
37 | BTV 4, 0.01 16 0 3| B AV TR AFRY - 0.02| 16 0
38 | | vT7 /A (CYAP) 3 0.0l 16 0 4 X = RALT=— ] — 0.03| 16 0
39 | B Yumy (DOMU) 20/ 0.01] 16 0 5 | & |72 AFLY U (AMPA) — 0.5 16 0
40 | YZu~=/L (DBN) 100 0.01] 16 0 6 | 7 |ONP-T 2 /{K — 0.05/ 16 0
41 H [z mEARA (DDVP) 8/ 0.08 16 0 T B | saAEYRALF Y — 0.03] 16 0
42| ¥ (Y7 Iv b 5 0.05 16 0 8 | M HATV I UAXY — 0.0l 16 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02] 16 0 9 | B |Tx=btuFtrAFI — 0.01| 16 0
44 | B OFFEN 9/ 0.01] 16 0 10| B |72 FAVANEXYR — 0.05/ 16 0
45 | B |vmky FTFL 6/ 0.02] 16 0 11 B |7z FF ANk — 0.02| 16 0
46 | BT~ (CAT) 3 0.02] 16 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 16 0
47 | B UAK ALY 20/ 0.01] 16 3 0.05 13 B |72 FAoAxY AR - 0.05 16 0
48 | VA bxZ—}h 50 0.02 16 0 4| W |ZxrFA oA — 0.02| 16 0
49 | B (VAU 30, 0.03 16 0 15| W |72 IRAFXRY - 0.02| 16 0
50 | L PAENL—Fh 30 0.02] 16 0 16 | W |7oETFRFToE — 0.02| 16 0
51 | hih XA 7Y/ v 5/ 0.01] 16 0 17 B |~I74%F — 0.02) 16 0
52 | MK KA b 800/ 0.01| 16 2/ 0.06
53 | M | F T A 20 0.03 16 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 16 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01] 16 0 i e A HERE ﬁ% lﬁ{ﬁ( Eg SRR
56 | L FARUHLT 20/ 0.02| 16 0 IR IR AN 2000 0.01| 16 0
57 | ® T LT AT (MBPMC) 20/ 0.01| 16 0 2 [ hE vV ALTEY 2000 0.03] 16 0
58 | B hUZBEL 6/ 0.01] 16 0 3 HmE Y/ TTTY 600 0.1 16 0
59 | i MYz madk (DEP) 5/ 0.05 16 0 4 | HE | 7FAPEL 20/ 0.01 16 0
60 |HER U T —L 80/ 0.01| 16 0 5 | M | AXIFKR 2/ 0.8 16 0
61 | ®W  RUTALTYL 60/ 0.02| 16 0 6 | ME | TYXFIRrE Y 500/ 0.01] 16 0
62 | B 7RI R 30, 0.03 16 0 T W A Tavty 300/ 0.05/ 16 0
63 | B EXmRRA 0.9/ 0.02] 16 0 8 | B vFamyr 300/ 0.01] 16 0
64 | B EIFTT 4/ 0.02] 16 0 9 | B F=Arnu—i 2000 0.01| 16 0
65 | K 7V Ux—hk (EZ7YL—}) 20/ 0.01| 16 0 10| B g ALTBY ATV 300 0.01 16 4 1.0
66 | EUXFT=UTFAFU 2/ 0.0l 16 0 11| R |7V b T =1 200/ 0.02| 16 0
67 | B BUTFHLT 20/ 0.01] 16 0 12 | B[R XY K (SAP) 100, 0.03| 16 0
68 | M Eo¥or 40/ 0.02| 16 5 0.07 13 # | RerrTRYAFL 500 0.01| 16 2| 0.05
69 | hif 74 = 0.5 0.005 16 0
70 |®ER 7 == haFA (MEP) 30 0,02 16 0
71 | HE = T HLT (BPMC) 30, 0.01 16 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 16 0 SRR P AR 1 0.01 0.01
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F eI IR

I KRGk
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 34 0 73 | M | 7= hx— b (PAP) 7| 0.03] 34 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 34 0 T4 | HE T IAR 100, 0.02| 34 0
3 | B |2,4-D (2,4-PA) 30/ 0.02) 34 0 75| B | THsu—L 30/ 0.02) 34 0
4 | i EPN 40 0.02) 34 0 76 | KO THIKR 20/ 0.02 34 0
5 | L |MCPA 5/ 0.02] 34 0 BN 1A=L Pl 20/ 0.05 34 0
6 | B TvaTAh 2000 0.01| 34 0 8| B | TSLFIFru— 50/ 0.02 34 0
7 WM | TET=— b 6/ 0.8 34 0 9| B |TevI Ry 90| 0.04 34 0
8 | W T hIVU 10/ 0.05| 34 0 80 Juraty—iu 50/ 0.01 34 0
9 | B 7T=upkR 3 0.03 34 0 8l | B |FmbEHIR 50/ 0.02) 34 14 0.12
10, B | 797ua—n 30 0.02 34 0 82 | Ml | Fm SV — 50/ 0.1 34 0
11| 8 Y FA4r 8/ 0.08 34 0 83 | ML | T mETF R 1000 0.02| 34 3| 0.09
12 B fYT7xrERR 1| 0.01 34 0 84 ~NJ I 20/ 0.01 34 1 0.01
13| W A4V 7aknrr (MIPC) 10/ 0.02] 34 0 85 | i | ~Nrvrmy 100/ 0.03| 34 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 34 0 86 | B NV TxFuS 40 0.01] 34 0
15 @ A7~k (1BP) 90| 0.02| 34 0 87 | B Ry xYL 2000 0.01| 34 0
16 mE A/ 0800 6/ 0.06] 34 0 88 | Bk N TF 4 ALY v 300/ 0.02] 34 0
17| ® S8 )77 9/ 0.05 34 0 89 | W (N T T INT 40/ 0.05 34 0
18 ¥ =2xSuhrT 30 0.02 34 0 90 | B RUTATYL (RREVY) 10/ 0.02| 34 0
19 TF 4T 2 RA (VT xR A, 6 005 34 0 91 | &V7V?—b 70/ 0.01 34 0

EDDP) 92 | # |HRAFTE— b 30 0,020 34 0
20 | M@ = h7zrFays R 80| 0.05 34 0 93 | W (~wTFAL (wT V) 50/ 0.03 34 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 34 0 94 | T | A= 7wy (MCPP) 50/ 0.01 34 0
22 | mURALT 7Y (RyYVIEY) 10 0.03] 34 0 95 | W[ AV I 30/ 0.01 34 0
23 | M | AF U8R (HFEER) 30/ 0.05 34 0 96 | R | A X TFXF L 60| 0.04 34 0
24 | AVY R brEY 100, 0.02| 34 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 34 0
25 | o XHARA 0.6/ 0.01 34 0 98 | B AFNAKA L 30/ 0.03 34 0
26 | B BTz A ho— 8 0.01] 34 0 99 | M A RI /A bBEY 40/ 0.01 34 32/ 0.13
27 | H AU L (NAC) 50 0.01 34 0 100 ® [ ARY TV 30/ 0.01 34 0
28 | M AT TR R 40/ 0.01| 34 0 101 # A7=Fk&v b 20/ 0.01 34 0
29 | X IR T T 5/ 0.01] 34 0 102 | i A7 m=)v 100, 0.05| 34 0
30| B X273 (ACN) 5/ 0.01] 34 0 103 B €Y x—h 5 0.02) 34 0
31 Xy L 3000 0.1 34 0
32| B sIjnmy 30, 0.05 34 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 34 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 34 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | sEAEYRRA 3 0.02] 34 0 1| B EPNAFY - 0.1 34 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 34 0 2 | B AYX T AR — 0.1 34 0
37 | BTV 40 0.01 34 0 3| B AV TR AFRY - 0.02| 34 0
38 | | vT7 /A (CYAP) 3 0.0l 34 0 4 X = RALT=— ] — 0.03] 34 0
39 | B Yumy (DOMU) 20/ 0.01| 34 0 5 | & |72 AFLY U (AMPA) — 0.5 34 0
40 | YZu~=/L (DBN) 100 0.01| 34 0 6 | 7 |ONP-T 2 /{K — 0.05/ 34 0
41 H [z mEARA (DDVP) 8/ 0.08 34 0 T B | saAEYRALF Y — 0.03| 34 0
42| ¥ (Y7 Iv b 5 0.05 34 0 8 | M HATV I UAXY — 0.01| 34 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 34 0 9 | B |Tx=btuFtrAFI — 0.01| 34 0
44 | B OFFEN 9/ 0.01] 34 0 10| B |72 FAVANEXYR — 0.05/ 34 0
45 | B |vmky FTFL 6/ 0.02] 34 0 11 B |7z FF ANk — 0.02| 34 0
46 | BT~ (CAT) 3 0,02 34 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 34 0
47 | B UAK ALY 20/ 0.01| 34 0 13 B |72 FAoAxY AR - 0.05/ 34 0
48 | VA bxZ—}h 50/ 0.02 34 0 4| W |ZxrFA oA — 0.02| 34 0
49 | B (VAU 30, 0.03 34 0 15| W |72 IRAFXRY - 0.02| 34 0
50 | B PAENL—| 3 0.02] 34 0 16 | W |7oETFRFToE — 0.02| 34 0
51 | hih XA 7Y/ v 5/ 0.01] 34 0 17 B |~I74%F — 0.02) 34 0
52 | MK KA b 800/ 0.01| 34 1/ 0.01
53 | M | F T A 20/ 0.03 34 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03| 34 0 . - R o
55 | Ml FAT 7 F— b AFIL 3000 0.01 34 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 34 0 INEY ST A= 2000 0.01| 34 0
57 | ® T LT AT (MBPMC) 20/ 0.01| 34 0 2 [ hE vV ALTEY 2000 0.03] 34 0
58 | B hUZBEL 6/ 0.01] 34 0 3 HmE Y/ TTTY 600/ 0.1 34 0
59 | i MYz madk (DEP) 5/ 0.05 34 0 4 | HME|7IAMEL 20/ 0.01 34 0
60 |HER U T —L 80/ 0.01| 34 0 5 | M | AXIFKR 20 0.8 34 0
61 | ®W  RUTALTYL 60/ 0.02] 34 0 6 | ME | TYXFIRrE Y 500/ 0.01| 34 0
62 | B 7RI R 30, 0.03 34 0 T W A Tavty 300/ 0.05 34 0
63 | B EXmRRA 0.9/ 0.02] 34 0 8 | B vFamyr 300/ 0.01| 34 0
64 | B EIFTT 4/ 0.02| 34 0 9 | B F=Arnu—i 200/ 0.01| 34 0
65 | ® BTV UR—k (T L—}) 20/ 0.01| 34 0 10 & e TayAFL 300/ 0.01] 34 4] 0.08
66 | EUXFT=UTFAFU 2/ 0.01] 34 0 11| R |7V b T =1 200/ 0.02] 34 0
67 | B BUTFHLT 20/ 0.01| 34 0 12 | B[R XY K (SAP) 100, 0.03| 34 0
68 | M Eo¥or 40/ 0.02] 34 2/ 0.03 13 # | RerrTRYAFL 500/ 0.01| 34 0
69 | hif 74 = 0.5 0.005 34 0
70 |®ER 7 == haFA (MEP) 3 0.02] 34 2/ 0.06
71 | HE = T HLT (BPMC) 30 0.01 34 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01] 34 0 SRR P AR 1 0.01 0. 02
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ERAIES

FPEMH 4 =K
ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 2| 0.04
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19 TF 4T 2 RA (VT xR A, 6 005 4 0 91 | H | Xy V—?— k 70/ 0.01 4 0

EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 4 0 94 | B | Aza7w v (MCPP) 50/ 0.01 4 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 4 0 95 | W[ AV I 30/ 0.01 4 0
23 | M | AF U8R (HFEER) 30/ 0.05 4 0 96 | R | A X TFXF L 60| 0.04 4 0
24 | AVY R brEY 100, 0.02 4 0 97 | | XFHTF AL (DMTP) 4/ 0.02 4 0
25 | B XHPERR 0.6/ 0.01 4 0 98 | B AFNAKA L 30/ 0.03 4 0
26 | B BTz A ho— 8/ 0.01 4 0 99 | M A RI /A bBEY 40| 0.01 4 4] 0.07
27 | H AU L (NAC) 50/ 0.01 4 0 100 ® [ ARY TV 30/ 0.01 4 0
28 | M AT R R 40/ 0.01 4 0 101 B [ A7=FEv bk 20/ 0.01 4 0
29 | X IR T T 5 0.01 4 0 102 | i A7 m=)v 100, 0.05 4 0
30| B X273 (ACN) 5/ 0.01 4 0 103 B €Y x—h 5 0.02 4 0
31 Xy L 3000 0.1 4 0
32| B sIjnmy 30/ 0.05 4 0 R OB % (ug/L)
33| B ZUARY—] 2000/ 0.5 4 0 N . L BE | R
34| # (yur=hkuz=z>r (ONP) 0.1 005 4 o0 i o A HER ﬁﬂﬂ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 4 0 1| B EPNAFY - 0.1 4 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 4 0 2 | B AYX T AR — 0.1 4 0
37 | BTV 4, 0.01 4 0 3| B AV TR AFRY - 0. 02 4 0
38 | | vT7 /A (CYAP) 3 0.01 4 0 4 X = RALT=— ] — 0.03 4 0
39 | B Yumy (DOMU) 20/ 0.01 4 0 5 | & |72 AFLY U (AMPA) — 0.5 4 0
40 | YZu~=/L (DBN) 10 0.01 4 0 6 | 7 |CONP-T 2 /1K — 0. 05 4 0
41 H [z mEARA (DDVP) 8| 0.08 4 0 T B | saAEYRALF Y — 0.03 4 0
2| ® [P/ Uv b 5 0.05 4 0 8 | M HATV I UAXY — 0.01 4 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 4 0 9 | B |Tx=btuFtrAFI — 0.01 4 0
44 | B OFFEN 9/ 0.01 4 0 10| B |72 FAVANEXYR — 0. 05 4 0
45 | B |vmky FTFL 6/ 0.02 4 0 11 B |7z FF ANk — 0. 02 4 0
46 | BT~ (CAT) 3/ 0.02 4 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 4 0
47 | B UAK ALY 20/ 0.01 4 0 13 B |72 FAoAxY AR - 0.05 4 0
48 | VA bxZ—}h 50/ 0.02 4 0 4| W |ZxrFA oA — 0. 02 4 0
49 | B (VAU 30/ 0.03 4 0 15| W |72 IRAFXRY - 0. 02 4 0
50 | L PAENL—Fh 3/ 0.02 4 0 16 | W |7oETFRFToE — 0. 02 4 0
51 | hih XA 7Y/ v 5 0.01 4 0 17 B |~I74%F — 0. 02 4 0
52 |HEE XA La 800/ 0.01 4 0
53 | M | F T A 20/ 0.03 4 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 4 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 4 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 4 0 IR IR AN 200/ 0.01 4 0
57 | ® T LT AT (MBPMC) 20/ 0.01 4 0 2 [ hE vV ALTEY 2000 0.03 4 0
58 | B hUZBEL 6/ 0.01 4 0 3 HmE Y/ TTTY 600 0.1 4 0
59 | | FU 2wk (DEP) 5/ 0.05 4 0 4 |HmE| 7T A MEL 20/ 0.01 4 0
60 |HER U T —L 80| 0.01 4 0 5 | M | AXIFKR 2/ 0.8 4 0
61 | ®W  RUTALTYL 60| 0.02 4 0 6 | ME | TYXFIRrE Y 500 0.01 4 0
62 | B 7RI R 30/ 0.03 4 0 T W A Tavty 300/ 0.05 4 0
63 | B EXmRRA 0.9/ 0.02 4 0 8 | B vFamyr 3000 0.01 4 0
64 | B EIFTT 4/ 0.02 4 0 9 | B F=Aru— 200/ 0.01 4 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 4 0 10 & e TayAFL 3000 0.01 4 0
66 | EUXFT=UTFAFU 2/ 0.01 4 0 11| R |7V b T =1 200/ 0.02 4 0
67 | B BUTFHLT 20/ 0.01 4 0 12 | B[R XY K (SAP) 100, 0.03 4 0
68 | M Eo¥or 40| 0.02 4 0 13| # | RerLTRYAFL 500 0.01 4 0
69 | hif 74 = 0.5/ 0.005 4 0
70 |®ER 7 == haFA (MEP) 30 0.02 4 0
71 | HE = T HLT (BPMC) 30/ 0.01 4 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 4 0 SRR P AR 1 0.01 0. 0 1A
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HE) IR
TOHEEE L
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | | 7= hm— 1k (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 0
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 0 BN 1A=L Pl 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 0
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | B T RIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 0
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 1 0.02
12 B 4V T7xrERA 1 o001 12 0 84 ~NJ I 20/ 0.01 12 0
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 0 87 | B Ry xYL 2000 0.01] 12 0
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100, 0.02| 12 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 0 99 | M A RI /A bBEY 40/ 0.01 12 2| 0.06
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 # A7=Fk&v b 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30| B X273 (ACN) 5/ 0.01] 12 0 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10| B |72 FAVANEXYR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 0 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| W |72 IRAFXRY - 0.02| 12 0
50 | L PAENL—Fh 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 0 17 B |~I74%F — 0.02] 12 0
52 |HEE XA La 800/ 0.01| 12 0
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . o R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 IR IR AN 2000 0.01] 12 0
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 0
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HE | 7FAPEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 0 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 | ME | TYXFIRrE Y 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 1 0.11
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 1/ 0.03 13 # | RerrTRYAFL 500 0.01 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 1/ 0.05
71 | HE = T HLT (BPMC) 30, 0.01 12 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0. 02
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ELgLES

HPTERSK
ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50/ 0.1 6 0 73 | | 7= hm— 1k (PAP) 7| 0.03 6 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 6 0 T4 | HE T IAR 100, 0. 02 6 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 6 0 75| B | THsu—L 30/ 0.02 6 0
4 | i EPN 4 0.02 6 0 76 | KO THIKR 20 0.02 6 0
5 | L |MCPA 5/ 0.02 6 0 BN 1A=L Pl 20| 0.05 6 0
6 | B TvaTAh 200 0.01 6 0 8| B | TSLFIFru— 50/ 0.02 6 0
7 WM | TET=— b 6 0.8 6 0 9| B |TevI Ry 90| 0.04 6 0
8 | B T RIVU 10/ 0.05 6 0 80 Juraty—iu 50/ 0.01 6 0
9 | B 7T=upkR 3/ 0.03 6 0 8l | B |FmbEHIR 50| 0.02 6 0
10, B | 797ua—n 30/ 0.02 6 0 82 | Ml | Fm SV — 50/ 0.1 6 0
11| 8 Y FA4r 8/ 0.08 6 0 83 | ML | T mETF R 100, 0.02 6 1 0.02
12 B 4V T7xrERA 1l o.01 6 0 84 ~NJ I 20/ 0.01 6 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 6 0 85 | i | ~Nrvrmy 100 0.03 6 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 6 0 86 | B NV TxFuS 4 0.01 6 0
15 @ A7~k (1BP) 90| 0.02 6 0 87 | B Ry xYL 200/ 0.01 6 0
16 mE A/ 0800 6/ 0.06 6 0 88 | Bk N TF 4 ALY v 300 0.02 6 0
17| ® S8 )77 9 0.05 6 0 89 | W (N T T INT 40| 0.05 6 0
18 ¥ =2xSuhrT 30/ 0.02 6 0 90 | B RUTATYL (RREVY) 10/ 0.02 6 0
19| @ TF YT 2 URA (BT 2 URA, 6l 005 6 0 91 | &y7yﬁ—b 70 0.01 6 0

EDDP) 92 | H KRRFTE—h 31 0.02 6 0
20 | M@ = h7zrFays R 80| 0.05 6 0 93 | W (~wTFAL (wT V) 50| 0.03 6 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 6 0 94 | B | Aza7w v (MCPP) 50/ 0.01 6 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 6 0 95 | W[ AV I 30/ 0.01 6 0
23 | M | AF U8R (HFEER) 30/ 0.05 6 0 96 | R | A X TFXF L 60| 0.04 6 0
24 | AVY R brEY 100, 0.02 6 0 97 | | XFHTF AL (DMTP) 4/ 0.02 6 0
25 | B XHPERR 0.6/ 0.01 6 0 98 | B AFNAKA L 30/ 0.03 6 0
26 | B BTz A ho— 8/ 0.01 6 0 99 | M A RI /A bBEY 40| 0.01 6 2| 0.05
27 | H AU L (NAC) 50/ 0.01 6 0 100 ® [ ARY TV 30/ 0.01 6 0
28 | M AT ERI R 40/ 0.01 6 0 101 B [ A7=FEv bk 20/ 0.01 6 0
29 | X IR T T 5 0.01 6 0 102 | i A7 m=)v 100, 0.05 6 0
30| B X273 (ACN) 5/ 0.01 6 0 103 B €Y x—h 5 0.02 6 0
31 Xy L 3000 0.1 6 0
32| B sIjnmy 30/ 0.05 6 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 6 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05] 6 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 6 0 1| B EPNAFY - 0.1 6 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 6 0 2 | B AYX T AR — 0.1 6 0
37 | BTV 4, 0.01 6 0 3| B AV TR AFRY - 0. 02 6 0
38 | | vT7 /A (CYAP) 3 0.01 6 0 4 X = RALT=— ] — 0.03 6 0
39 | B Yumy (DOMU) 20/ 0.01 6 0 5 | & |72 AFLY U (AMPA) — 0.5 6 0
40 | YZu~=/L (DBN) 10 0.01 6 0 6 | 7 |ONP-T 2 /{K — 0. 05 6 0
41 H [z mEARA (DDVP) 8| 0.08 6 0 T B | saAEYRALF Y — 0.03 6 0
42| ¥ (Y7 Iv b 5 0.05 6 0 8 | M HATV I UAXY — 0.01 6 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 6 0 9 | B |Tx=btuFtrAFI — 0.01 6 0
44 | B OFFEN 9/ 0.01 6 0 10| B |72 FAVANEXYR — 0. 05 6 0
45 | B |vmky FTFL 6/ 0.02 6 0 11 B |7z FF ANk — 0. 02 6 0
46 | BT~ (CAT) 3/ 0.02 6 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 6 0
47 | B UAK ALY 20/ 0.01 6 0 13 B |72 FAoAxY AR - 0.05 6 0
48 | VA bxZ—}h 50/ 0.02 6 0 4| W |ZxrFA oA — 0. 02 6 0
49 | B (VAU 30/ 0.03 6 0 15| W |72 IRAFXRY - 0. 02 6 0
50 | L PAENL—Fh 3/ 0.02 6 0 16 | W |7oETFRFToE — 0. 02 6 0
51 | hih XA 7Y/ v 5 0.01 6 0 17 B |~I74%F — 0. 02 6 0
52 |HEE XA La 800/ 0.01 6 0
53 | M | F T A 20/ 0.03 6 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 6 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 6 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 6 0 IR IR AN 200/ 0.01 6 0
57 | ® T LT AT (MBPMC) 20/ 0.01 6 0 2 [ hE vV ALTEY 2000 0.03 6 0
58 | B hUZBEL 6/ 0.01 6 0 3 HmE Y/ TTTY 600 0.1 6 0
59 | i MYz madk (DEP) 5/ 0.05 6 0 4 |HmE| 7T A MEL 20/ 0.01 6 0
60 |HER U T —L 80| 0.01 6 0 5 | M | AXIFKR 2/ 0.8 6 0
61 | ®W  RUTALTYL 60| 0.02 6 0 6 | ME | TYXFIRrE Y 500 0.01 6 0
62 | B 7RI R 30/ 0.03 6 0 T W A Tavty 300/ 0.05 6 0
63 | B EXmRRA 0.9/ 0.02 6 0 8 | B vFamyr 3000 0.01 6 0
64 | B EIFTT 4/ 0.02 6 0 9 | B F=Aru— 200/ 0.01 6 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 6 0 10 & e TayAFL 3000 0.01 6 0
66 | EUXFT=UTFAFU 2/ 0.01 6 0 11| R |7V b T =1 200/ 0.02 6 0
67 | B BUTFHLT 20/ 0.01 6 0 12 | B[R XY K (SAP) 100, 0.03 6 0
68 | M Eo¥or 40| 0.02 6 1] 0.02 13 # | RerrTRYAFL 500 0.01 6 0
69 | hif 74 = 0.5/ 0.005 6 0
70 |®ER 7 == haFA (MEP) 30 0.02 6 0
71 | HE = T HLT (BPMC) 30/ 0.01 6 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 6 0 SRR P AR 1 0.01 0. 0 1A

e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

I RAEDZEMMIE

R FIRIEA ) &35

1-11




ELgLES

TR K
ES 2 VSN -2 S ___ (ng/L) _ (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50 0.1 12 0 73 | | 7= hm— 1k (PAP) 71 0.03) 12 0
2 | B O|2,2-DPA (¥ TFHY) 80/ 0.8/ 12 0 T4 | HE T IAR 100 0.02| 12 0
3 | B |2,4-D (2,4-PA) 30/ 0.02] 12 0 75| B | THsu—L 30/ 0.02) 12 0
4 | i EPN 40 0.02) 12 0 76 | KO THIKR 20/ 0.02 12 0
5 | L |MCPA 5/ 0.02] 12 0 BN 1A=L Pl 20/ 0.05 12 0
6 | B TvaTAh 2000 0.01 12 0 8| B | TSLFIFru— 50/ 0.02 12 0
7 WM | TET=— b 6 0.8 12 0 9| B |TevI Ry 90| 0.04 12 0
8 | W T hIVU 10/ 0.05] 12 0 80 Juraty—iu 50/ 0.01 12 0
9 | B 7T=upkR 30 0,03 12 0 8l | B |FmbEHIR 50/ 0.02 12 0
10, B | 797ua—n 30, 0.02 12 0 82 | Ml | Fm SV — 50/ 0.1 12 0
11| 8 Y FA4r 8/ 0.08 12 0 83 | ML | T mETF R 100, 0.02| 12 1 0.02
12 B fYT7xrERR 1 o001 12 0 84 ~NJ I 20/ 0.01 12 0
13| W A4V 7aknrr (MIPC) 100 0.02] 12 0 85 | i | ~Nrvrmy 100/ 0.03] 12 0
14 | wEisk A Y T uF4T5 2 (IPT) 3000 0.02] 12 0 86 | B NV TxFuS 40 0.01] 12 0
15 @ A7~k (1BP) 90/ 0.02] 12 0 87 | B Ry xYL 2000 0.01] 12 0
16 mE A/ 0800 6/ 0.06] 12 0 88 | Bk N TF 4 ALY v 3000 0.02] 12 0
17| ® S8 )77 9 0.05 12 0 89 | W (N T T INT 40/ 0.05 12 0
18 ¥ =2xSuhrT 300 0.02 12 0 90 | B RUTATYL (RREVY) 100 0.02) 12 0
19 TF 4T 2 RA (VT xR A, 6 005 12 0 91 | &V7V?—b 70/ 0.01 12 0

EDDP) 92 | # |HRAFTE— b 3] 0.02) 12 0
20 | M@ = h7zrFays R 80/ 0.05 12 0 93 | W (~wTFAL (wT V) 50/ 0.03 12 0
21 TRYTDTY = (Zr AV =)L) 40 0.02) 12 0 94 | T | A= 7wy (MCPP) 50/ 0.01 12 0
22 | mURALT 7Y (RyYVIEY) 100 0.03] 12 0 95 | W[ AV I 30/ 0.01 12 0
23 | M | AF U8R (HFEER) 30/ 0.05 12 0 96 | R | A X TFXF L 60| 0.04 12 0
24 | AVY R brEY 100, 0.02| 12 0 97 | | XFHTF AL (DMTP) 4/ 0.02] 12 0
25 | o XHARA 0.6/ 0.01 12 0 98 | B AFNAKA L 30/ 0.03 12 0
26 | B BTz A ho— 8 0.01] 12 0 99 | M A RI /A bBEY 40/ 0.01 12 2| 0.04
27 | H AU L (NAC) 50, 0.01 12 0 100 ® [ ARY TV 30/ 0.01 12 0
28 | M AT TR R 40/ 0.01 12 0 101 # A7=Fk&v b 20/ 0.01 12 0
29 | X IR T T 5/ 0.01] 12 0 102 | i A7 m=)v 100, 0.05/ 12 0
30| B X273 (ACN) 5/ 0.01] 12 0 103 B €Y x—h 5 0.02) 12 0
31 Xy L 3000 0.1 12 0
32| B sIjnmy 30, 0.05 12 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 12 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 0.05 12/ 0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 30,02 12 0 1| B EPNAFY - 0.1 12 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 12 0 2 | B AYX T AR — 0.1/ 12 0
37 | BTV 40 0.01 12 0 3| B AV TR AFRY - 0.02| 12 0
38 | | vT7 /A (CYAP) 3 0.0l 12 0 4 X = RALT=— ] — 0.03] 12 0
39 | B Yumy (DOMU) 20/ 0.01] 12 0 5 | & |72 AFLY U (AMPA) — 0.5 12 0
40 | YZu~=/L (DBN) 100 0.01] 12 0 6 | 7 |ONP-T 2 /{K — 0.05/ 12 0
41 H [z mEARA (DDVP) 8l 0.08 12 0 T B | saAEYRALF Y — 0.03] 12 0
42| ¥ (Y7 Iv b 5 0.05 12 0 8 | M HATV I UAXY — 0.0l 12 0
43 H [PRAALK Y (ZFAFARA ) 40 0.02) 12 0 9 | B |Tx=btuFtrAFI — 0.01] 12 0
44 | B OFFEN 9/ 0.01] 12 0 10| B |72 FAVANEXYR — 0.05/ 12 0
45 | B |vmky FTFL 6/ 0.02] 12 0 11 B |7z FF ANk — 0.02| 12 0
46 | BT~ (CAT) 30 0,02 12 0 12| B | Z7=rFA ARV R LRFLR — 0.05/ 12 0
47 | B UAK ALY 20/ 0.01] 12 0 13 B |72 FAoAxY AR - 0.05/ 12 0
48 | VA bxZ—}h 50/ 0.02 12 0 4| W |ZxrFA oA — 0.02| 12 0
49 | B (VAU 30, 0.03 12 0 15| W |72 IRAFXRY - 0.02| 12 0
50 | L PAENL—Fh 30 0,02 12 0 16 | W |7oETFRFToE — 0.02| 12 0
51 | hih XA 7Y/ v 5/ 0.01] 12 0 17 B |~I74%F — 0.02] 12 0
52 |HEE XA La 800/ 0.01| 12 0
53 | M | F T A 20 0.03 12 0 212} 8 (ug/L)
54 | W FATINLT 80/ 0.03/ 12 0 . o R o
55 | Ml FAT 7 F— b AFIL 3000 0.01] 12 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02] 12 0 IR IR AN 2000 0.01] 12 0
57 | ® T LT AT (MBPMC) 20/ 0.01] 12 0 2 [ hE vV ALTEY 2000 0.03] 12 0
58 | B hUZBEL 6/ 0.01] 12 0 3 HmE Y/ TTTY 600 0.1 12 0
59 | i MYz madk (DEP) 5/ 0.05 12 0 4 | HE | 7FAPEL 20/ 0.01 12 0
60 |HER U T —L 80/ 0.01 12 0 5 | M | AXIFKR 2 0.8 12 0
61 | ®W  RUTALTYL 60/ 0.02] 12 0 6 | ME | TYXFIRrE Y 500 0.01] 12 0
62 | B 7RI R 30, 0.03 12 0 T W A Tavty 300 0.05 12 0
63 | B EXmRRA 0.9/ 0.02] 12 0 8 | B vFamyr 300 0.01] 12 0
64 | B EIFTT 40 0.02] 12 0 9 | B F=Arnu—i 2000 0.01] 12 0
65 | ® BTV UR—k (T L—}) 20/ 0.01] 12 0 10 & e TayAFL 300 0.01] 12 0
66 | EUXFT=UTFAFU 2/ 0.01] 12 0 11| R |7V b T =1 200/ 0.02] 12 0
67 | B BUTFHLT 20/ 0.01] 12 0 12 | B[R XY K (SAP) 100, 0.03] 12 0
68 | M Eo¥or 40/ 0.02] 12 0 13| # | RerLTRYAFL 500 0.01] 12 0
69 | hif 74 = 0.5 0.005 12 0
70 |®ER 7 == haFA (MEP) 30 0,02 12 2/ 0.06
71 | HE = T HLT (BPMC) 30, 0.01 12 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.0l 12 0 SRR P AR 1 0.01 0. 02
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LS

IR 2 %Ki
ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc
1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 0
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19| @ TF YT 2 URA (BT 2 URA, 6l 005 1 0 91 | &y7yﬁ—b 70 0.01 1 0
EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 4 0 94 | B | Aza7w v (MCPP) 50/ 0.01 4 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 4 0 95 | W[ AV I 30/ 0.01 4 0
23 | M | AF U8R (HFEER) 30/ 0.05 4 0 96 | R | A X TFXF L 60| 0.04 4 0
24 | AVY R brEY 100, 0.02 4 0 97 | | XFHTF AL (DMTP) 4/ 0.02 4 0
25 | B XHPERR 0.6/ 0.01 4 0 98 | B AFNAKA L 30/ 0.03 4 0
26 | B BTz A ho— 8/ 0.01 4 0 99 | M A RI /A bBEY 40/ 0.01 4 0
27 | H AU L (NAC) 50/ 0.01 4 0 100 ® [ ARY TV 30/ 0.01 4 0
28 | M AT R R 40/ 0.01 4 0 101 B [ A7=FEv bk 20/ 0.01 4 0
29 | X IR T T 5 0.01 4 0 102 | i A7 m=)v 100, 0.05 4 0
30| B X273 (ACN) 5/ 0.01 4 0 103 B €Y x—h 5 0.02 4 0
31 Xy L 3000 0.1 4 0
32| B sIjnmy 30/ 0.05 4 0 R OB % (ug/L)
33| B ZUARY—] 2000/ 0.5 4 0 N . L BE | R
34| # (yur=hkuz=z>r (ONP) 0.1 005 4 o0 i o A HER ﬁﬂﬂ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 4 0 1| B EPNAFY - 0.1 4 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 4 0 2 | B AYX T AR — 0.1 4 0
37 | BTV 4, 0.01 4 0 3| B AV TR AFRY - 0. 02 4 0
38 | | vT7 /A (CYAP) 3 0.01 4 0 4 X = RALT=— ] — 0.03 4 0
39 | B Yumy (DOMU) 20/ 0.01 4 0 5 | & |72 AFLY U (AMPA) — 0.5 4 0
40 | YZu~=/L (DBN) 10 0.01 4 0 6 | 7 |ONP-T 2 /{K — 0. 05 4 0
41 H [z mEARA (DDVP) 8| 0.08 4 0 T B | saAEYRALF Y — 0.03 4 0
2| ® [P/ Uv b 5 0.05 4 0 8 | M HATV I UAXY — 0.01 4 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 4 0 9 | B |Tx=btuFtrAFI — 0.01 4 0
44 | B OFFEN 9/ 0.01 4 0 10| B |72 FAVANEXYR — 0. 05 4 0
45 | B |vmky FTFL 6/ 0.02 4 0 11 B |7z FF ANk — 0. 02 4 0
46 | BT~ (CAT) 3/ 0.02 4 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 4 0
47 | B UAK ALY 20/ 0.01 4 0 13 B |72 FAoAxY AR - 0.05 4 0
48 | VA bxZ—}h 50/ 0.02 4 0 4| W |ZxrFA oA — 0. 02 4 0
49 | B (VAU 30/ 0.03 4 0 15| W |72 IRAFXRY - 0. 02 4 0
50 | L PAENL—Fh 3/ 0.02 4 0 16 | W |7oETFRFToE — 0. 02 4 0
51 | hih XA 7Y/ v 5 0.01 4 0 17 B |~I74%F — 0. 02 4 0
52 |HEE XA La 800/ 0.01 4 0
53 | M | F T A 20/ 0.03 4 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 4 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 4 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 4 0 IR IR AN 200/ 0.01 4 0
57 | ® T LT AT (MBPMC) 20/ 0.01 4 0 2 [ hE vV ALTEY 2000 0.03 4 0
58 | B hUZBEL 6/ 0.01 4 0 3 HmE Y/ TTTY 600 0.1 4 0
59 | i MYz madk (DEP) 5/ 0.05 4 0 4 |HmE| 7T A MEL 20/ 0.01 4 0
60 |HER U T —L 80| 0.01 4 0 5 | M | AXIFKR 2/ 0.8 4 0
61 | ®W  RUTALTYL 60| 0.02 4 0 6 | ME | TYXFIRrE Y 500 0.01 4 0
62 | B 7RI R 30/ 0.03 4 0 T W A Tavty 300/ 0.05 4 0
63 | B EXmRRA 0.9/ 0.02 4 0 8 | B vFamyr 3000 0.01 4 0
64 | B EIFTT 4/ 0.02 4 0 9 | B F=Aru— 200/ 0.01 4 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 4 0 10 & e TayAFL 3000 0.01 4 0
66 | EUXFT=UTFAFU 2/ 0.01 4 0 11| R |7V b T =1 200/ 0.02 4 0
67 | B BUTFHLT 20/ 0.01 4 0 12 | B[R XY K (SAP) 100, 0.03 4 0
68 | M Eo¥or 40| 0.02 4 0 13| # | RerLTRYAFL 500 0.01 4 0
69 | hif 74 = 0.5/ 0.005 4 0
70 |®ER 7 == haFA (MEP) 30 0.02 4 0
71 | HE = T HLT (BPMC) 30/ 0.01 4 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 4 0 SRR P AR 1 0.01 0. 0 1A
e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

I RAEDZEMMIE

R FIRIEA ) &35
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BERERR

FRE)N - EB)IFREERES

RELTISE 1 32K M

ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc
1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 2| 0.03
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19 TF YT 2 URA (BT 2 URA, 6l 005 1 0 91 | &y7y-‘?—b 70 0.01 1 0
EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 4 0 94 | B | Aza7w v (MCPP) 50/ 0.01 4 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 4 0 95 | W[ AV I 30/ 0.01 4 0
23 | M | AF U8R (HFEER) 30/ 0.05 4 0 96 | R | A X TFXF L 60| 0.04 4 0
24 | AVY R brEY 100, 0.02 4 0 97 | | XFHTF AL (DMTP) 4/ 0.02 4 0
25 | B XHPERR 0.6/ 0.01 4 0 98 | B AFNAKA L 30/ 0.03 4 0
26 | B BTz A ho— 8/ 0.01 4 0 99 | M A RI /A bBEY 40| 0.01 4 4] 0.07
27 | H AU L (NAC) 50/ 0.01 4 0 100 ® [ ARY TV 30/ 0.01 4 0
28 | M AT R R 40/ 0.01 4 0 101 B [ A7=FEv bk 20/ 0.01 4 0
29 | X IR T T 5 0.01 4 0 102 | i A7 m=)v 100, 0.05 4 0
30| B X273 (ACN) 5/ 0.01 4 0 103 B €Y x—h 5 0.02 4 0
31 Xy L 3000 0.1 4 0
32| B sIjnmy 30/ 0.05 4 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 4 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 005 4 o0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 4 0 1| B EPNAFY - 0.1 4 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 4 0 2 | B AYX T AR — 0.1 4 0
37 | BTV 4, 0.01 4 0 3| B AV TR AFRY - 0. 02 4 0
38 | | vT7 /A (CYAP) 3 0.01 4 0 4 X = RALT=— ] — 0.03 4 0
39 | B Yumy (DOMU) 20/ 0.01 4 0 5 | & |72 AFLY U (AMPA) — 0.5 4 0
40 | YZu~=/L (DBN) 10 0.01 4 0 6 | 7 |ONP-T 2 /{K — 0. 05 4 0
41 H [z mEARA (DDVP) 8| 0.08 4 0 T B | saAEYRALF Y — 0.03 4 0
42| ¥ (Y7 Iv b 5 0.05 4 0 8 | M HATV I UAXY — 0.01 4 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 4 0 9 | B |Tx=btuFtrAFI — 0.01 4 0
44 | B OFFEN 9/ 0.01 4 0 10| B |72 FAVANEXYR — 0. 05 4 0
45 | B |vmky FTFL 6/ 0.02 4 0 11 B |7z FF ANk — 0. 02 4 0
46 | BT~ (CAT) 3/ 0.02 4 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 4 0
47 | B UAK ALY 20/ 0.01 4 0 13 B |72 FAoAxY AR - 0.05 4 0
48 | VA bxZ—}h 50/ 0.02 4 0 4| W |ZxrFA oA — 0. 02 4 0
49 | B (VAU 30/ 0.03 4 0 15| W |72 IRAFXRY - 0. 02 4 0
50 | L PAENL—Fh 3/ 0.02 4 0 16 | W |7oETFRFToE — 0. 02 4 0
51 | hih XA 7Y/ v 5 0.01 4 0 17 B |~I74%F — 0. 02 4 0
52 |HEE XA La 800/ 0.01 4 0
53 | M | F T A 20/ 0.03 4 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 4 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 4 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 4 0 IR IR AN 200/ 0.01 4 0
57 | ® T LT AT (MBPMC) 20/ 0.01 4 0 2 [ hE vV ALTEY 2000 0.03 4 0
58 | B hUZBEL 6/ 0.01 4 0 3 HmE Y/ TTTY 600 0.1 4 0
59 | i MYz madk (DEP) 5/ 0.05 4 0 4 |HmE| 7T A MEL 20/ 0.01 4 0
60 |HER U T —L 80| 0.01 4 0 5 | M | AXIFKR 2/ 0.8 4 0
61 | ®W  RUTALTYL 60| 0.02 4 0 6 | ME | TYXFIRrE Y 500 0.01 4 0
62 | B 7RI R 30/ 0.03 4 0 T W A Tavty 300/ 0.05 4 0
63 | B EXmRRA 0.9/ 0.02 4 0 8 | B vFamyr 3000 0.01 4 0
64 | B EIFTT 4/ 0.02 4 0 9 | B F=Aru— 200/ 0.01 4 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 4 0 10 & e TayAFL 3000 0.01 4 0
66 | EUXFT=UTFAFU 2/ 0.01 4 0 11| R |7V b T =1 200/ 0.02 4 0
67 | B BUTFHLT 20/ 0.01 4 0 12 | B[R XY K (SAP) 100, 0.03 4 0
68 | M Eo¥or 40| 0.02 4 0 13| # | RerLTRYAFL 500 0.01 4 0
69 | hif 74 = 0.5/ 0.005 4 0
70 |®ER 7 == haFA (MEP) 30 0.02 4 0
71 | HE = T HLT (BPMC) 30/ 0.01 4 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 4 0 SRR P AR 1 0.01 0. 0 1A
e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

IIAEOZEMIE, T T IR 2R
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FRE)N - EB)IRREEES

AEBTHE 1 527K
ES 2 VSN -2 S _ (ng/L) (ug/L)
ik moE 4 ) PR USRS ok i oK 4 i PR R TR poc

1| # |,3-Yraaray (D-D) 50/ 0.1 4 0 73 | | 7= hm— 1k (PAP) 7| 0.03 4 0
2 | B O|2,2-DPA (¥ TFHY) 80| 0.8 4 0 T4 | HE T IAR 100, 0. 02 4 0
3 | B |2,4-D (2,4-PA) 30/ 0.02 4 0 75| B | THsu—L 30/ 0.02 4 0
4 | i EPN 4 0.02 4 0 76 | KO THIKR 20 0.02 4 0
5 | L |MCPA 5/ 0.02 4 0 BN 1A=L Pl 20| 0.05 4 0
6 | B TvaTAh 200 0.01 4 0 8| B | TSLFIFru— 50/ 0.02 4 0
7 WM | TET=— b 6 0.8 4 0 9| B |TevI Ry 90| 0.04 4 0
8 | B T RIVU 10/ 0.05 4 0 80 Juraty—iu 50/ 0.01 4 0
9 | B 7T=upkR 3/ 0.03 4 0 8l | B |FmbEHIR 50| 0.02 4 1 0.02
10, B | 797ua—n 30/ 0.02 4 0 82 | Ml | Fm SV — 50/ 0.1 4 0
11| 8 Y FA4r 8/ 0.08 4 0 83 | ML | T mETF R 100, 0.02 4 0
12 B 4V T7xrERA 1l o.01 4 0 84 ~NJ I 20/ 0.01 4 0
13| W A4V 7aknrr (MIPC) 10/ 0.02 4 0 85 | i | ~Nrvrmy 100 0.03 4 0
14 | wEisk A Y T uF4T5 2 (IPT) 300/ 0.02 4 0 86 | B NV TxFuS 4 0.01 4 0
15 @ A7~k (1BP) 90| 0.02 4 0 87 | B Ry xYL 200/ 0.01 4 0
16 mE A/ 0800 6/ 0.06 4 0 88 | Bk N TF 4 ALY v 300 0.02 4 0
17| ® S8 )77 9 0.05 4 0 89 | W (N T T INT 40| 0.05 4 0
18 ¥ =2xSuhrT 30/ 0.02 4 0 90 | B RUTATYL (RREVY) 10/ 0.02 4 0
19| @ TF YT 2 URA (BT 2 URA, 6l 005 1 0 91 | &y7yﬁ—b 70 0.01 1 0

EDDP) 92 | H KRRFTE—h 31 0.02 4 0
20 | M@ = h7zrFays R 80| 0.05 4 0 93 | W (~wTFAL (wT V) 50| 0.03 4 0
21 TRYTDTY = (Zr AV =)L) 4 0.02 4 0 94 | B | Aza7w v (MCPP) 50/ 0.01 4 0
22 | mURALT 7Y (RyYVIEY) 10/ 0.03 4 0 95 | W[ AV I 30/ 0.01 4 0
23 | M | AF U8R (HFEER) 30/ 0.05 4 0 96 | R | A X TFXF L 60| 0.04 4 0
24 | AVY R brEY 100, 0.02 4 0 97 | | XFHTF AL (DMTP) 4/ 0.02 4 0
25 | B XHPERR 0.6/ 0.01 4 0 98 | B AFNAKA L 30/ 0.03 4 0
26 | B BTz A ho— 8/ 0.01 4 0 99 | M A RI /A bBEY 40| 0.01 4 3 0.02
27 | H AU L (NAC) 50/ 0.01 4 0 100 ® [ ARY TV 30/ 0.01 4 0
28 | M AT R R 40/ 0.01 4 0 101 B [ A7=FEv bk 20/ 0.01 4 0
29 | X IR T T 5 0.01 4 0 102 | i A7 m=)v 100, 0.05 4 0
30| B X273 (ACN) 5/ 0.01 4 0 103 B €Y x—h 5 0.02 4 0
31 Xy L 3000 0.1 4 0
32| B sIjnmy 30/ 0.05 4 0 R OB % (ug/L)
33 | W ZUKRP—| 2000/ 0.5 4 0 . . L RIE | R
34| # (yur=hkuz=z>r (ONP) 0.1 005 4 o0 i o A HER %ﬁ [EES Eiﬁf SRt
35 | Wz YRA 3/ 0.02 4 0 1| B EPNAFY - 0.1 4 0
36 | @ ZmuXa=, (TPN) 50/ 0.02 4 0 2 | B AYX T AR — 0.1 4 0
37 | BTV 4, 0.01 4 0 3| B AV TR AFRY - 0. 02 4 0
38 | | vT7 /A (CYAP) 3 0.01 4 0 4 X = RALT=— ] — 0.03 4 0
39 | B Yumy (DOMU) 20/ 0.01 4 0 5 | & |72 AFLY U (AMPA) — 0.5 4 0
40 | YZu~=/L (DBN) 10 0.01 4 0 6 | 7 |ONP-T 2 /{K — 0. 05 4 0
41 H [z mEARA (DDVP) 8| 0.08 4 0 T B | saAEYRALF Y — 0.03 4 0
42| ¥ (Y7 Iv b 5 0.05 4 0 8 | M HATV I UAXY — 0.01 4 0
43 H [PRAALK Y (ZFAFARA ) 4 0.02 4 0 9 | B |Tx=btuFtrAFI — 0.01 4 0
44 | B OFFEN 9/ 0.01 4 0 10| B |72 FAVANEXYR — 0. 05 4 0
45 | B |vmky FTFL 6/ 0.02 4 0 11 B |7z FF ANk — 0. 02 4 0
46 | BT~ (CAT) 3/ 0.02 4 0 12| B | Z7=rFA ARV R LRFLR — 0. 05 4 0
47 | B UAK ALY 20/ 0.01 4 0 13 B |72 FAoAxY AR - 0.05 4 0
48 | VA bxZ—}h 50/ 0.02 4 0 4| W |ZxrFA oA — 0. 02 4 0
49 | B (VAU 30/ 0.03 4 0 15| W |72 IRAFXRY - 0. 02 4 0
50 | L PAENL—Fh 3/ 0.02 4 0 16 | W |7oETFRFToE — 0. 02 4 0
51 | hih XA 7Y/ v 5 0.01 4 0 17 B |~I74%F — 0. 02 4 0
52 |HEE XA La 800/ 0.01 4 0
53 | M | F T A 20/ 0.03 4 0 212} 8 (ug/L)
54 | W FATINLT 80| 0.03 4 0 . o R o
55 | Ml FAT 7 F— b AFIL 300/ 0.01 4 0 i e A HERE ﬁ% IE{%I Eg SRR
56 | L FARUHLT 20/ 0.02 4 0 IR IR AN 200/ 0.01 4 0
57 | ® T LT AT (MBPMC) 20/ 0.01 4 0 2 [ hE vV ALTEY 2000 0.03 4 0
58 | B hUZBEL 6/ 0.01 4 0 3 HmE Y/ TTTY 600 0.1 4 0
59 | i MYz madk (DEP) 5/ 0.05 4 0 4 |HmE| 7T A MEL 20/ 0.01 4 0
60 |HER U T —L 80| 0.01 4 0 5 | M | AXIFKR 2/ 0.8 4 0
61 | ®W  RUTALTYL 60| 0.02 4 0 6 | ME | TYXFIRrE Y 500 0.01 4 0
62 | B 7RI R 30/ 0.03 4 0 T W A Tavty 300/ 0.05 4 0
63 | B EXmRRA 0.9/ 0.02 4 0 8 | B vFamyr 3000 0.01 4 0
64 | B EIFTT 4/ 0.02 4 0 9 | B F=Aru— 200/ 0.01 4 0
65 | ® BTV UR—k (T L—}) 20/ 0.01 4 0 10 & e TayAFL 3000 0.01 4 0
66 | EUXFT=UTFAFU 2/ 0.01 4 0 11| R |7V b T =1 200/ 0.02 4 0
67 | B BUTFHLT 20/ 0.01 4 0 12 | B[R XY K (SAP) 100, 0.03 4 0
68 | M Eo¥or 40| 0.02 4 0 13| # | RerLTRYAFL 500 0.01 4 0
69 | hif 74 = 0.5/ 0.005 4 0
70 |®ER 7 == haFA (MEP) 30 0.02 4 0
71 | HE = T HLT (BPMC) 30/ 0.01 4 0 e | B IR [ oN(!
72 7= FAr (MPP) 6 0.01 4 0 SRR P AR 1 0.01 0. 0 1A

e RIS T, o A B RTEA. B BRELAD R RHEREAA R AR, RR O RRIRFEEEAL. BE Bk, T TR RERT,

IIAEOZEMIE, T T IR 2R
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W 27 rRRY OO LFRERR
7T AR D0 BB AR

FFERAE

B K
Ji 7K
FAH i%?;ib STATT | Bkt (L)
H27. 4.6 [ {iskcurn g 10
5.18 i Jishcacn [ {askcurn 10
6.15 i Jishcacn T 10
7.13 i Jishcacn i {askcarn 10
8.10 i Jishcacn [ {Sskcucn 10
9.7 i Jishcacn i {askcurn 10
10. 13 [ {iskcurn g 10
11.16 [ ssncach [ fisncac 10
12.7 i Jishcacn [ {Sskcucn 10
H28. 1. 12 FRHEd [ {ankcnrh 10
2.8 i Jishcacn [ {Sskcucn 10
3.7 i Jishcach i Jishcach 10
ELER D
VT K S
K
ARy L v | kR O
H27. 4.6 [ {iskcurn e 10
5.18 i Jishcacn i Jishcnch 10
6.15 i Jishcacn [ {askcucn 10
7.13 i Jiskcacn i Jishcach 10
8.10 i Jishcacn [ {askcurn 10
9.7 i Jishcacn i Jiskcnch 10
10. 13 i 3 10
11. 16 [ aaRcacE daaRcncn 10
12.7 i {isncach [ {askcnrh 10
H28. 1. 12 [ aaRcacE [ daancnch 10
2.8 i R e 10
3.7 i {snicash i {askcnrn 10
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X #KEGRERBREERCERIR
Ve 7R A AR AR SR
DARVEALT V=0 A 2 TAR E
% R A H*;C?.f;él pr?.ﬂ?)
4418 OB Gl (ki
b (20°C) 1198 1.22 1.22
LT A= L wt% 10.0~11.0% 10.3 10.2
LR wt% 45.0~65.0% 53.5 53.5
pHAE (10g/LEiHK) 3.5~5.0 4.1 4.2
Ll v wt% 35U 2.5 2.5
FPAT AR B E I RIEA R (mg/L) 300 300
RIS A e
TR LR OZEDOILE W) 0.0003mg/LLL T <0.0003 <0.0003
KEER OZDILE Y 0.00005mg/LLLF|  <0.00005  <0.00005
TLU R OZEDLEY) 0.001mg/LELF <0.001 <0.001
gk OZEDILE 0.001mg/LEL T <0.001 <0.001
EE L OZEOILEY 0.001mg/LEA T <0.001 <0.001
MMtz aMbE& Y 0.005mg/LEL T <0.005 <0.005
PR FDILEY) 0.03mg/LLAF <0.03 <0.03
<A R OZEDILEY) 0.005mg/LLA T <0.005 <0.005
=TV DAY 0.001mg/LEAT <0.001 <0.001
TUF R R OIZEDILEY) 0.0015mg/LLL T <0.0015 <0.0015
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2)wr k) — 4 SPRRQTH I
i H il ot pr?.ﬂfs

o g%&ggfﬁwiﬁébt ﬁf s
VN2 RN 45% LA F (FE7) 72 48.5
At F R A 0.75% LT (BH:) 1.5% LLF (#7T) L <1.5

FEAT AR AR e KIEAZ (mg/L) 100

AT A L
ARIY LR OZEDILE 0.0003mg/LLLF <0.0003
KERK OZDILEW 0.00005mg/LELT <0.00005
LR OEDOLAEY 0.001mg/LLL T <0.001
KR OZEDILE 0.001mg/LEA T Ef <0.001
LR M OZDIAEY 0.001mg/LEA T 75 <0.001
A IPA=FN (A= 0.005mg/LLL T <0.005
=T N R OZEDILEY 0.001mg/LLL T <0.001
T T K OZEDOILAEY) 0.0015mg/LLLF <0.0015
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VIR MR SRR 2THEHE

B ok BEH =y bR)  HFT(N T4 1)

H27.6.17 H27.5.7

7 x )=l 2501 F 20 16
ABSHih 50LLF 39 34
AF LT — i 150mL/gbk k 150 190
FOFWAENERE 900mg/gb F 950 1060
pHAE (1 % SR D12 HiK) 4~11 9.9 10.0
Ak A A 0.5%LL T 0.022 0.11
RS R (1% MBI DR HR) 900uS/cmLh T 199 230
Rz AR 50% LA T (BEFF) 5% (IEIAT) 45.2 3.0
5Dy (550 B BIET75um) 10%LL T 1.2 0.7

FEAT R ER A E e RIEA R (mg/L) 100 100

RIS AP e
AR LR OZEDOLE W) 0.0003mg/LLLT <0.0003 <0.0003
KERR OZDILE W 0.00005mg/LLA T <0.00005 <0.00005
TLU R OEDLEY 0.001mg/LEATF <0.001 <0.001
e N EDALE ) 0.001mg/LLLF <0.001 <0.001
== O R 0.001mg/LEA T <0.001 <0.001
NMitizaMbaY 0.005mg/LEL T <0.005 <0.005
High M OZ DAY 0.1mg/LELF <0.1 <0.1
8} O DB 0.1mg/LLATF <0.1 <0.1
<A R OZFEDILEY) 0.005mg/LLL T <0.005 <0.005
= VR OZEDEY 0.001mg/LLL T <0.001 <0.001
T oTF ' KOEDICEY) 0.0015mg/LLLT <0.0015 <0.0015
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DR MG R R — 5 TR TAR
W K Rt (k) H%é.i? Hf[;.fll

A RHEFRIREE (Yo(w/w)) 12.0%LL E 13.2 13.2
S8l W . DFE IR R i i
#RE(leE) (20C) 1.1I6LL T 1.14 1.14
EBfET LAY 2%LA T 0.22 0.20
R 50mg/kglAl T 8 8
Ha S 4000mg/kgLh T 1400 1400
X [ WA 4.0%LLF 2.47 2.40

R A E B RTEA R (mg/L) 100 100

RS A
HRIY LR OZEDALE W) 0.0003mg/LLA T <0.0003 <0.0003
KER K O DILE W 0.00005mg/LLL T <0.00005 <0.00005
LR OZEDOLA Y 0.001mg/LLL T <0.001 <0.001
R OEDILEY) 0.001mg/LLAT <0.001 <0.001
EFE K OZDOILAEY) 0.001mg/LLA T <0.001 <0.001
ANMtiz e sMEEY 0.005mg/LLL <0.005 <0.005
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5)fi Rk 2T 4R
i H il Hfﬂ?.;ﬁz
fiti ki 5y 95% LA L 95.5
AR RERKNIEA R (mg/L) 50
A H A e
AR LR OZEDOLE Y 0.0003mg/LLL T <0.0003
KERR OZDILE W 0.00005mg/LLA T <0.00005
TLU R OZEDLEY 0.001mg/LLAF <0.001
kT DOILEY 0.001mg/LLL T <0.001
LR L DAY 0.001mg/LEL T <0.001
VA= 0N (Y 0.005mg/LLA T <0.005
PR DAY 0.03mg/LEAT <0.03
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HACKSEAR K OEA =

SRIAIES

FEH K S
WL FEEB S U U A (AR GOEERE)
LS SHHCES 3 LSS
TR 1
EAFE | FEAE | AR FAE | EAFE FAE | AR FAR
H m® ppm kg ppm kg ppm kg ppm kg
H27. 4 2, 115, 094 0. 04 681 1.08 18,386 0.35 5,958 1.5 25,025
5 2,221, 266 0. 04 709 1.12 19,855 0.36 @ 6,382 1.5 26,946
6 2,290, 105 0.03 547 1.30 23,693 0.42 = 17,655 1.8 31,894
7 2,319,514 0.03 559 1.17 21,808 0.57 | 10,625 1.8 32,992
8 2, 354, 135 0.03 568 1.15 21,769 0.71 | 13,440 1.9 35,777
9 2, 176, 908 0.03 524 1.07 18,682 0.67 | 11,698 1.8 30,904
10 2,238, 133 0.03 536 1.06 18,928 0.69 12,321 1.8 31,785
11 1,916, 151 0. 02 308 1.03 15,864 0.70 = 10,781 1.8 26,953
12 1,999, 717 0. 02 320 0.91 14,567 0.69 | 11,046 1.6 25,933
H28. 1 2, 283, 393 0.01 184 0.87 16,048 0.61 | 11,252 1.5 27,484
2 2,131,016 0.01 166 0.89 14,781 0.58 @ 9,632 1.5 24,579
3 2,270, 733 0. 02 380 0.88 16,719 0.55 | 10, 450 1.5 27,549
&t 26, 316, 165 5, 482 221, 100 121, 239 347,821
25 0. 02 1.01 0.55 1.6
PAC witE Y — & ﬁé?&g
FEAR | FAE | FAR FAR | AR | EAE
A ppm ppm L ppm kg
H27. 4 17 35, 315
5 16 36, 320
6 21 48, 423 3.0 6, 955
7 23 54, 126 6.3 14,648
8 22 50, 907 9.2 21,760
9 22 48, 828 7.0 | 15,310
10 22 49, 006 5.1 | 11,378
11 21 40, 771
12 21 42, 502
H28. 1 19 42, 548
2 18 37,786
3 18 40, 062
At 526, 594 70, 050
SEH 20 0.0 6.2
& HOEARITHEME, EAR - BEUKEEIEA & FHE
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EadEY D

P K2 %
WA e FZ e N A (JEAR . AREFHEE)
KR KT S LS C3ES e
H , HEAR  FEAE | AR FAZE | HAFE  FARE | EAER  EARE
m’ ppm kg ppm kg ppm kg ppm kg
H27.4| 3,764,121 0.94 27,255 0.35 9,994 1.3 37,249
5/ 3,845,989 1.13 33,504 0.42 12,456 1.6 45,960
6| 4,098,924 1.05 33,091 0.43 13,530 1.5 46,621
7 3,926,583 1.10 33,361 0.54 16,314 1.6 49,675
8 4,231,407 0.06 1,802 1.07 34,833 0.52 16,929 1.6 53,565
9 4,092,186 1.00 31,444 0.47 14,792 1.5 46,236
10 3,980,199 1.09 33,255 0.43 13,201 1.5 46,456
11 4,259,892 1.06 34,585 0.40 12,965 1.5 47,550
12 4,214,438 0.34 10,890 0.76 24,653 0.45 14,509 1.5 50,053
H28.1 4,081,212 0.41 13,028 0.60 18,758 0.41 12,822 1.4 44,608
2/ 3,889,934 0.34 10,263 0.68 20,203 0.26 7,884 1.3 38,350
3] 3,719,980 0.45 12,754 0.75 21,597 0.31 8,934 1.5 43,285
A5F 48,104,865 48,737 346,540 154,331 549,608
SH) 4,008,739 0.13 0.94 0.42 1.5
KR 7K T 2 PAC Hiimr P —4 ety —4 Wiile
H , EAZE FAZ | FAFE FAE | EAR  FEARE | EAE  FAZ
m’ ppm L ppm L ppm L ppm kg
H27.4 3,764,121 22 81,474 8.9 33,558 2.9 11,402
5/ 3,845,989 22 86,186 8.9 34,117 2.9 11,929
6 4,098,924 19 78,624 7.6 31,234 2.5 10,913
7 3,926,583 32| 127,251 3.48 13,647 4.6 17,943 0.1 225
8 4,231,407 22 91,575 0.30 1,268 5.8 24,657 1.6 6,976
9 4,092,186 22 90,176 4.9 19,968 0.4 1,761
10 3,980,199 20 80,121 6.7 26,550 1.6 6,772
11 4,259,892 20 86,533 5.7 24,221 1.1 4,996
121 4,214,438 20 86,259 7.7 32,309 2.6 11,755
H28.1| 4,081,212 20 81,288 8.2 33,523 4.6 19,579
2/ 3,889,934 18 71,620 7.6 29,490 2.2 8,818
3] 3,719,980 22 82,858 9.5 35,230 3.2 12,472
&5t | 48,104,865 1,043,966 14,915 342,800 107,598
SH) 4,008,739 22 0.31 7.1 2.1
R ATE M % (7 oy M RO| B AT A 5 (74 %)
MIEUK R & |(Fmkgmoesiiipl  CRHiBukE)
A , EAZE FEAZE | HEAFE | FAR
m’ ppm kg ppm kg
H27.4 3,764,121 2.4 9,266
5/ 3,845,989 3.9 15,164
6 4,098,924 2.0 8,043
7 3,926,583 0.3 1,127
8 4,231,407 0.3 1,002
9 4,092,186
10 3,980,199
11 4,259,892
121 4,214,438
H28.1| 4,081,212 3.7 14,888
2/ 3,889,934 1.0 3,884
3 3,719,980 2.4 8,566
At 48,104,865 0 61,940
SEH) 4,008,739 0.00 1.3
T S5 HOEANRTA EE, EARE-RIFKREIZA AFHE

B — S TEARRL, %W — & DIEAZIF IR
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—5— Ath g kG

0.020

=3
=
=2
o

ZHO008EE (mg/L)
=3
o]
=

0 00 002 003 004
ooddA - (medl)

5/1 6/ 1 TII 1 a/ 1 9} 1 10|/1 11|/ 1 12|/2 1! 1

K3, VFoKEGKED Y7 o alfflORRE L 7 1ok s L oOFES

0.030 : , : _ I T 003

—a-ArhEs AcEE ﬁ**ﬁ: 3}'25 0.021mg/!. | | DA ES kG

S ; ! i | oATHZE KB
a PR T AR : SEKHh:9/80.015me/L | 2 < -
= \ 0 | - 0
t-i] - ) I o0 AR L SRR, SR b -
# oo , _ ; _ o
o o010 ‘ : g oo
& =
= O A : x
= 0005 "‘..: N

0 i i i
0.000 | : | | | : | | e D0 06 oW
5/1 6/1 /1 8/1 9/1 10/1 11/1 12/2 1/1 SOogLA  (mesL)

4. HOKGEKRED B ) 7 v alfiROER & 7 v gL s L OFFEY

10-5



2.3 HERIERMEREE
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